[ Efficiency vs vertpos |
- 05

20.45
4
2 04

9
$0.35

AL JRARRN RARLE LLRRN LRRLN LRRR

IIII;””.

.................................................

.................................................

..........................................

00 S L TR Peesafo
E o
o J—-‘-G 1 11 + .“I 111 III 1 1 L 111
= - HEdEe
g r HEEARA T
J_% : ::* i- i - i e -
r Ll = :
I . HES
0.95 S :
1072 107" 1 10 0?
TP vertr (cm
—=— DQM_MKFIt_TTbase
—e— DOM_mkFit_TT_retrainOldFiles125_v2_prelimWP_5iter
Efficiend —— DQM_mKFit_TT baseline_6iter
—— DOM_mKkFit_TT RetrainV2_WP2_6iter

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
e

ettici

W

+E ........ L___ifé_é ...... ;

Ratio

4

[y

L g
b 5

o

13
oS
S

-20 -10

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

N 05
>

8.0.45
0.4
20.35
0.3

£
n

O SISEE STTIE SR SO S
€ 1— ------- -.,. <’¢|$U,l$|||||m<>

A iifuauuditnic
o545 i 55510 15

Sim. PV z (cm)




	Contents
	Page 1


